o
[N

<3 @> (rad)
©
o [
[y [6)]

o
TIT [T T [ TI T[T T[T I T I T[rrrT

.......

..............................

o002

Ratio
N

0.95!

W[TTTT T

-1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

ey

|
[ L

-2

-1

0 1 2 3
TP n (PCA to beamline)

OO
ceceeq)
NANNAL

ww

i

—Hﬂ%%Q

OO

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

8

Ratiq

W

0.95

-2

-1

0 1 2 3
TP n (PCA to beamline)

<op/p. > (%)

-HH

K|

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

-2

-1

0o 1 2 3
TP n (PCA to beamline)

......

......

......

Ratiq

0.95

W

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


